
V 2

ωÈC
Y [

2

mÈ
&

]

R
�
� ψ

%%KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK

]
ψ � &C

�V 2

ωÈ
λ]

C

u:v

]
ψ = ue−1

ξ

v
ψ

ξ

dξ∫
&
]

R
�

u

]\ = ue−1
ξ

v\
ξ

dξ∫
&
]

R
�



&C
�V∫

dz/πd

u + u∗− vΦv

&R
�ν − 2d1/r − d2/r

2
z

]
ψ
DF

=

V∫
dv/πd2

vΦve−1
ξ

2
v
ψ

ξ

DF Γ
ν − d/r

&R
�ν]− d

]
/r

ξ

LHS = 2
d1

∫
dx/2πd1

iX∫
dy

∫
dv/πd2

2x− vΦv

&R
�ν − 2d1/r − d2/r

2

x + ye−1
ξ

v
ψ

ξ

dξ∫
&
]

R
�

D F

=

2
d1

∫
dx/ (2π)

d1

iX∫
dy

∫
dv/πd2

2x− vΦv

&R
�ν − 2d1/r − d2/r x− ye−1

ξ
1

v−
ψ

ξ
1

dξ
1∫

&
]

R
�

x + ye−1
ξ
2

v
ψ

ξ
2

dξ
2∫

&
]

R
�

= 2
d1

∫
dx

∫
dv/πd2

2x− vΦv

&R
�ν − 2d1/r − d2/r 2xe−1

ξ

2
v
ψ

ξ

DF

dξ∫
&
]

R
�

=

∫
dv/πd2

vΦve−1
ξ

2
v
ψ

ξ

DF

2
d1

∫
dx

2x− vΦv

&R
�ν − 2d1/r − d2/r 2x− vΦve−1

ξ

dξ∫
&
]

R
�

=

X
P∫

dx

v
ψ

ξ

DF2

d

V∫
dv/πd2

vΦve−1
ξ

′x
′x

&R
�ν − 2d1/r − d2/r ′xe−1

ξ

dξ∫
&
]

R
�

= RHS


